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(For the candidates admitted from 2012-2013 onwards)

B.Sc./B.C.A. DEGREE EXAMINATION,
APRIL/MAY 2018.

Second and Fourth Semester
Allied — APPLIED STATISTICS
(Common for B.Sc. Geography /IS and B.C.A. / CS)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL the questions.

1.  Define Probability density function of a random
variable.

@@ rrawL b wrhlller Hlapsse <Liss smmbamer
euanTwIy.
2 Define : Discrete random variable.

UMW : H&TSS FreRTLLDd Lom.

3 Define Binomial distribution.

FE(HMILILL LIFGUENED GUen LI,

10.

State the formula for normal distribution.

QuisBlenels Lieugie umUIUTLenL gay.

What is meant by fitting of a distribution?

R0 Lreume QUMHSSIH0 erammmed erevmen?

State the principle of least square.
B&8lm) euida panperws s,

Define : Null hypothesis.
Uyl Qe erayd er(HCamar.
State the large sample formula to test the

significant difference between sample mean and
population mean.

o WOHMD  WPWLSASTEE WG ETMEN & (6Hd
Sen Guwmen  ef$Swimgid WEEWSFIoUD UTUIHSST
eren Gemdle@b Quptisany Cemsamaner eumiium’ e
Fam.

State the assumptions of chi square test of
goodness of fit.

MHaUTES Lfeuallen [mee Aumrmss Cersemanssran
DI DY LOTGTRIGEDET o).

State the characteristics of chi square test.
aeuTes GCargameruder (SR SHENET Fofr).
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12.

(@)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)

Answer ALL the questions.

State and prove multiplication theorem on
expectation.

agrunigselen shHse Copmsams g HlemL9.
Or

A continuous random variable x has the
following pdf. Find a number b such that

plx<b)=plx=b).
fix)=6x(1-x), 0sx<1.

x eramp Qam_mordluder Flepsse; LT55
gmiiy $C sriiul_(Hererg.

f(x)=6x(l—-2), 0<x<1.
p(x <b)=p(x2b) eemp Hlereuledr bwdllienus
HTEHTS.

Derive mean and variance of binomial
distribution.

FE(BOILILL uieueslenm gyme LHMILD
uFeueLIig uflener s(medl.
Or

State and prove additive property of Poisson
distribution.

umiEmer LiFeueler sn(hge LamranLs daml HlemLdl.
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13.

14.

(@)

(b)

(@)

(b)

Fit a straight line to the following data :
G Il TR S T |

y: 1 18 33 45 6.3

19 6treu (LD eHluphisEnsaE CrrCsm_eanL
QumrpSais.
e Q142 . 3.4
y:. 1 1.8 33 4563
Or
Explain the method of fitting

y=a+bx+cx®.
y=a+bx+cx® Qurmsgd e elerdes.

A coin in tossed 10,000 times and it turns up
head 5,195 times. Discuss whether the coin
may be regarded as unbiased one.

10,000 sLeeu @@ mrewnub @il L g6,
5,195 wperm sewed N(PHSFH CTTHTED, DG HO®
prewrwinn erer Cangenar Clalis.

Or

Explain the procedure of testing the
significant difference between two means.

Qran(® smafleEnsdlan. Guiner eNsSunssdpamear
pé&Slwggieu Camganean cflarss.
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15. (a) State the applications of chi square
distribution.

M&6UTEHS LiTeuedler LiweTm (D& san).
Or

(b) The following table gives the number of
accidents that occurs during various days of
week. Find whether the accidents are

uniformly distributed over the week.
Day: Mon Tue Wed Thu Fri Sat Sun
No. of accidents: 14 16 8 12 11 9 14

@m  arrsdléd  merLCQupp  eluggiseen
aamentiEans. 6L srUUL(HETerg @ M
eflorenr  eluggiser &frs  PLBGETETST  Grem
Cemgenen Qaul.

BTGT - druser Qgcueumi Lgen eflwmper Qeudt safl @muimy
Ausgsaflen 14 16 8 12 M 9 14
aramenflGens

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
16. A random variable X has the following

probability function.
¥, =218 1 2 3
p(x): 0.1 K 02 2K 03 K
Find the following :
(a K
(b) mean

(c) variance.

5 S.No. 2016

17.

18.

X eamp grawid wrhluder Hlapsse; L SGW
SruUL(heTerg).
x: 2-10 1 2.3
pi): 01K 0.2 2K 0.3 K
Wletreu(HeuaTeuhEn D SITeHTs.
(1) K
(<) &pme
(@) wrmur@.
For poisson distribution, derive the following.

du,
di

LMUEeT LITeueIsE Memeumeuang HlemLal.

Moyl = rd Hr_q +A

Hri1 =ri My 1+ﬂ'

A set of 6 similar coins is tossed 640 times with
the following results. Fit a binomial distribution
assuming the coins are symmetrical.
Number ofheads: 0 1 2 3 4 5 6

f: 7 64 140 210 132 75 12

@Gy  wrdlflurer 6 prewrwriser 640 LG
gL LUl (® Sieupdler eluriisar G sriiul(Herers.
BIERTIBIGET — FESTTaemel  eTam SiIDTaSSe,
FHOIULYL uFeued Qurmsg.

sanasafar sramaniidens 0 1 2 3 4 5 6

: £ 7 64 140 210 132 75 12
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19.

20.

1000 apples kept under one type of storage were
found to slow rotting to the extent of 4%. 1,500
apples kept under another kind of storage showed
3% rotting. Can it be reasonably concluded that
the second type of storage is superior to the first.

@@ GHLGLL Calliiy apenpuded eneussiiuiL 1000
Sller vpmsefler 4% uwprisaT WEUNBBSET.
Cau@prm  Cadlly werpuier emeudsiiulr 1,500
Suder uphseier 3%  HUmHESF eTeTTED
@rawr_reug Gelliy wern wWsd papanwiell
Anpsg eran QsmeTeremLom?

Explain chi square test of independent of
attributes.

Ganhisaflen FTTLUOHD SMEOEETET MSEUTES LiTeled
Cengenanani 6lend:@s.
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